
Montageanleitung für Bausatz

ZA-M Ultra

�������

928627 - 03.05

FL-RD M8 x 16 (9 STK)

6KT-SHR M8 x 35 (7 STK)

6KT-SHR M8 x 20 (4 STK)

SI-MU M8 (24 STK)

SHB (54 STK)

6KT-SHR M10 x 55 (2 STK)

6KT-SHR M10 x 70 (4 STK)

6KT-SHR M10 x 30 (10 STK)

SI-MU M10 (16 STK)

Flügelmutter (1 STK)



2

FL-RD-SHR M8 x 20

6KT-SHR M8 x 35

6KT-SHR M8 x 35



3

6KT-SHR M8 x 35

6KT-SHR M10 x 30

6KT-SHR M10 x 55

6KT-SHR M8 x 20

6KT-SHR M10 x 70



4

6KT-SHR M10 x 30

6KT-SHR M10 x 70


